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1. Which of the following is not the source of economic growth 7
(&).Capital accumuiatioi. (b). Technological progress.
(c).Human capital accumulation. ’ (d).Money supply growih. |
{e).Labor force increase,

2. Which of the following statements is the argument against industrial policies 7
{(a).Borrowing constraints are limits imposed by lenders. -
(b} Innovation has its positive spillover effect.
{c).Government intervention may be desivable in the early development stage.
-I(d}.There is no market failare in ailocating resonrces by the market.
(e).Mone,

’ ;3 ‘Which event will increase the demand for money 7 _
{a) An increase in the expected retums o govertment bond. {b).An increase in the possibility of stock market crash.
(¢).A boom in the real estate market. (d).A decrease in the wealth of the nation.

(e}.noxiel of the above events.

4. Which of the following statement about financial variables during business cycles is comrect ?

{1).Stock prices are procyclical and leading. (). The real interesi rate does not have an obvious ;cyclicai pattern.
{c). The real interest rate is acyctical, {d). The Federal funds rate is procyclical and ]aggiilg
{e).All of the above, :
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5, Which of the following staterents is not correct abouf the monetary policies 7
(a).All monetary policies only change the amount 6f the high-powered money, ot the money multiplier.
(b).Open market operations are the monetary policies used most frequently.

{c).discount window lending only affect the amount of the bank reserve of the high-powered money.
{d). The size of the bond market will affect the ability of the veniral bank in exercising its monetary policies.

6. Which of the following changes will be Jeast likely to oceur for a badly burt economy in the Asian financial crisis 7
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(a).The currency-deposit ratio will increase, {h).The reserve-deposit ratio will increase.
(). The nominai money demand will increase. - - {d).The rominal money supply will increase.
(). All of the above.

7. Which of the following statements is not trus about the LM curve ?
{(a).Any factor that decreases real money demand shifis the LM cucve down,
(b).LM curves will shift to the right when expected inflation is jncreased.
(c).LM curve represents the combinations of real interest rates and outputs resulting the asset market equilibria.
(d).1.M curve wili shift to the left when Nominal money supply increases,
{£).LM curve will be affected by an increase in wealth,

8. What event could happen to Thailand after the Asia financizl crisis took place ? Please use short term Keynesian theory fo analyze.
¢a).Its IS curve could shift to the left due to a decling in investment.
{(b).Its IS curve could shift io the right due to a decline in savings.

(c).Its LM curve could shift to the feft due to a decrease in meney supply.
(d).Its LM curve could shift to the left due to severe inflation.

{e).All of them. | , Ei : % {ﬁ} ﬁ.}ﬁti _
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9, If the current economic Sitvation can be represented on the 18-LM plane, and it is plotted as a point fo the left of FE, 1S, and LM
carves, then which of the following descriptions is correct 7 - T
{2).Goods demanded is smalter than goads supplied in goods market.
(b).Investment is preater than savings in goods market.
{c).Money demanded is greater than money supplied in money market.
{d}.Nonmoney assets demanded is smatler than nonmoney assets supplied in money market.
{e).All of them.
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10. Which of the following transactions does not cantribute to the current year'’s GDP ?
{2).The government pays yoli the interest on the bonds you Fold.
(b).The government pays you to do a commercial for keeping kids out of drug;,
(c}. You bought a used car from 2 used car dealer who spent some money cleaning it up.
(d).An antomobile manufacturer has some tires left, which were preduced in this year.
(2).A Iapane.sa firm pruducas chips in your counlry and exports them back fo fapan.
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